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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Choose the correct part of speech for the underlined word in each sentence.
The novel's tangled plot captivated the readers.

Verb

Adverb

Adjective

Noun

Not Answered

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence and Ethics

The development of artificial intelligence (AI) raises ethical considerations related to the use of advanced
technologies. AI systems, capable of learning and making decisions, have the potential to impact various
aspects of human life, from healthcare to privacy. Ensuring ethical AI development involves addressing
concerns such as algorithmic bias, transparency, and accountability. Striking a balance between technological
advancements and ethical considerations is essential to harness the benefits of AI without compromising
fundamental values.

What is mentioned as a potential impact of AI on privacy?

Algorithmic bias

Transparency

Accountability

Privacy concerns

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence and Ethics

The development of artificial intelligence (AI) raises ethical considerations related to the use of advanced
technologies. AI systems, capable of learning and making decisions, have the potential to impact various
aspects of human life, from healthcare to privacy. Ensuring ethical AI development involves addressing
concerns such as algorithmic bias, transparency, and accountability. Striking a balance between technological
advancements and ethical considerations is essential to harness the benefits of AI without compromising
fundamental values.

In the passage which aspects of human life are mentioned in relation to AI?

Transparency

Healthcare

Algorithmic bias

Ignoring ethical considerations

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence and Ethics

The development of artificial intelligence (AI) raises ethical considerations related to the use of advanced
technologies. AI systems, capable of learning and making decisions, have the potential to impact various
aspects of human life, from healthcare to privacy. Ensuring ethical AI development involves addressing
concerns such as algorithmic bias, transparency, and accountability. Striking a balance between technological
advancements and ethical considerations is essential to harness the benefits of AI without compromising
fundamental values.

What does ensuring ethical AI development involve?

Ignoring concerns

Addressing algorithmic bias

Avoiding transparency

Disregarding accountability

Not Answered

Q.No: 5 Fill in the blank with correct article.

Do you know _______ ingredients of this recipe?

a

an

the

No Article Required

Q.No: 6 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
You won't forget to feed the dog this time, ____?

won't you

will you

did you

haven't you

Not Answered

Q.No: 7 What does the idiom "cost an arm and a leg" mean?

Difficult to find

Cheap

Free of cost

Expensive

Not Answered

Q.No: 8 Choose the correct option that completes the sentence logically and grammatically:
The film was interesting, _____ a bit too long.

but

not

so

and

Q.No: 9 Choose the word that means "to express an unfavorable or adverse judgment on":

Commend

Condemn

Approve

Praise

Not Answered

Q.No: 10 In the following question, a sentence has been given in Active voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive voice.

The dealer will service the scooter for free the first three times.

The scooter was serviced for free by the dealer for the first three times.

For the first three times, the dealer will service the scooter for free.

The scooter will be serviced for free by the dealer for the first three times.

Servicing of the scooter for free was done by the dealer for the first three times.

Not Answered

Q.No: 11 Choose the correct part of speech for the underlined word in each sentence.
The bird sings beautifully in the morning.

Adverb

Adjective

Verb

Noun

Q.No: 12 Choose the correct punctuation for the sentence:

"The concert was fantastic _______ the audience loved it."

Period

Comma

Question mark

Colon

Q.No: 13 Choose the correct part of speech for the underlined word in each sentence.
My sister is a talented singer.

Adverb

Verb

Noun

Adjective

Not Answered

Q.No: 14 In the sentence, "I have three favourite hobbies ___ reading, hiking and painting" which punctuation mark is
used to introduce a list?

Colon

Exclamation point

Comma

Period

Not Answered

Q.No: 15 Which sentence is in the simple past tense?

She has been cooking.

He is reading a book.

We will go shopping.

They were playing outside.

Q.No: 16 What does the term "precise" mean?

Random

Inaccurate

Vague

Specific

Not Answered

Q.No: 17 Fill in the blank with the correctly spelled word:
The marathon runners faced a challenging ___________ with steep hills.

coarse

cource

coursse

course

Q.No: 18 Choose the option that best represents the antonym of the underlined word in the sentence.
Despite the tumultuous times, the community remained united.

wild

peaceful

festive

vociferous

Not Answered

Q.No: 19 Choose the correct option that completes the sentence logically and grammatically:
I am looking forward _____ the weekend.

in

to

at

by

Q.No: 20 Choose the correct term for "A person who repairs and maintains machinery."

Doctor

Consultant

Mechanic

Inventor

Q.No: 21 Arrange the following jumbled words into a coherent order:

A. Sat
B. For
C. Final
D. Up
E. The
F. Exam
G. They
H. Late
I. Preparing

I-B-E-F-G-C-A-D-H

B-I-C-F-G-A-D-H

G-A-D-H-I-B-E-C-F

B-C-E-F-G-A-D-I-H

Not Answered

Q.No: 22 Choose the correct singular form of "cacti."

Cactus

Cactees

Cactuses

Cactie

Not Answered

Q.No: 23 What is the past tense of "sleep"?

sleep

sleeps

slept

Sleeping

Q.No: 24 What is the Synonym for "Conclude"?

Initiate

End

Start

Begin

Not Answered

Q.No: 25 What is the meaning of the Idiom "In a Pickle"?

Fail in a spectacular way

In a dominant position, in control

Unaware of something

In a troublesome or difficult situation

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Not Answered

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Not Answered

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 The total age of X and Y is 36 years. If X is
twice as old as Y, how old is X?

18 years

6 years

24 years

12 years

Not Answered

Q.No: 52 What percent of 200 is 60?

40% 40%

35% 35%

33% 33%

30% 30%

Not Answered

Q.No: 53 Simplify:

Not Answered

Q.No: 54 The average of 10 numbers is 35. If one
number is removed, the average becomes 40.
What is the removed number?

40 40

-20 -20

-10 -10

35 35

Not Answered

Q.No: 55 Simplify:

Not Answered

Q.No: 56 The Least Common Multiple (LCM) of 16
and 24 is _____.

32 32

24 24

48 48

64 64

Not Answered

Q.No: 57 Simplify:

Not Answered

Q.No: 58 A car depreciates in value at a rate of 10%
per year. If the initial value of the car is
Rs.2,00,000, what will be its value after 3
year?

Rs. 125800 Rs. 125800

Rs. 145800 Rs. 145800

Rs. 135800 Rs. 135800

Rs. 115800 Rs. 115800

Not Answered

Q.No: 59 If A and B together can complete a
task in 16 days and B alone can
complete the same task in 24 days,
in how many days can A alone
complete the work?

16 days

36 days

48 days

12 days

Not Answered
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Q.No: 60
If you roll a fair six-sided dice, what is the
probability of rolling a number greater than 6?

1/6 1/6

0 0

1 1

1/2 1/2

Not Answered

Q.No: 61 Traveling at a speed of 50 kmph, how
long is it going to take to travel 60
km?

2 hours

55 minutes

1 hour 12 minutes

2 hours 5 minutes

Not Answered

Q.No: 62 An agent bought a plot
for Rs.1,00,000 and sold
it at Rs.1,15,000. What
percentage of profit did
he make?

Not Answered

Q.No: 63 If you pick a letter at random from the
word "FEDERAL," what is the probability
that it is a vowel?

5/8 5/8

3/8 3/8

1/3 1/3

1/2 1/2

Not Answered

Q.No: 64 What is the Highest Common Factor (HCF) of 72
and 90?

12 12

18 18

15 15

9 9

Not Answered

Q.No: 65 Simplify:

Not Answered

Q.No: 66
The average of 5 consecutive numbers is
25. What is the largest of these numbers?

115 115

27 27

23 23

24 24

Not Answered

Q.No: 67 Which of these ratios is NOT equivalent to 4:8?

Not Answered

Q.No: 68 A ratio equivalent to 3:7 is ________.

Not Answered

Q.No: 69 Calculate the simple interest
on Rs.5000 for 15 months at 6
paise per rupee per month.

Rs. 3,500 Rs. 3,500

Rs. 4,500 Rs. 4,500

Rs. 5,500 Rs. 5,500

Rs. 6,500 Rs. 6,500

Not Answered

Q.No: 70 A cyclist covers a distance of 50
kilometers in 2 hours. What is the
speed of cyclist?

0.5 kmph 0.5 kmph

30 kmph 30 kmph

25 kmph 25 kmph

100 kmph 100 kmph

Not Answered

Q.No: 71 120 pens were bought at the total cost of
Rs.600 and sold at the rate of 48 per
dozen. Find the profit or loss percentage

18% Loss

25% Profit

22% Profit

20% Loss

Not Answered

Q.No: 72 If the cost price of an article is Rs.150
and the selling price is Rs.180, what is
the profit percentage?

25% 25%

29% 29%

20% 20%

22% 22%

Not Answered

Q.No: 73 Five years ago, Meena was half her
current age. How old is she now?

15 years

10 years

20 years

18 years

Not Answered

Q.No: 74 A can do a piece of work in 4
hours; B and C together can do it in
3 hours, while A and C together can
do it in 2 hours. How long will B
alone take to do it?

10 hours

12 hours

24 hours

11 hours

Not Answered

Q.No: 75 Last year the price of
a laptop was
Rs.38,000. It has
increased by 20% this
year. What is the
price of the laptop
now?

Not Answered

Section - IV (General Knowledge)

Q.No: 76 Mahatma Gandhi took up the Khilafat issue to:

To empower

Stop violence

Strengthen the Muslims

Unite Hindus and Muslims together

Q.No: 77 The Uranium Corporation of
India Limited (UCIL) was set
up by the Government of
India in the
year______________.

1981

1979

1967

1955

Not Answered

Q.No: 78 Which Article of the
Indian Constitution
recognizes Hindi as
the Official language
of the Central
Government of India?

Article 321

Article 343

Article 312

Article 340

Q.No: 79 Narora Atomic Power Station is found in which
state of India?

Jharkhand

Haryana

Himachal Pradesh

Uttar Pradesh

Q.No: 80 Punjab National Bank
(subsequently merged
with Oriental Bank of
Commerce and United
Bank of India) is
headquartered
in___________.

New Delhi

Mumbai

Chandigarh

Jaipur

Q.No: 81 In which of the following
places were the 2010
Common Wealth Games
held?

Moscow

Kuala Lumpur

Delhi

Scotland

Q.No: 82 What is the full-form of ATM?

Automatic Teller Mechanic

Automatic Teller Maximum

Automated Teller Machine

Automated Teller Mechanism

Q.No: 83 Who or what is "Vyommitra"?

ISRO's first manned space flight

ISRO's Robot

ISRO's Secondary space capsule

ISRO's space travel kit

Q.No: 84 GST is a ________________.

Customs Tax

Direct Tax

Indirect Tax

Income tax

Q.No: 85 The ICC Men's Cricket World Cup
2023 was held in which country?

Srilanka

Dubai

Australia

India

Q.No: 86 The Jallianwala Bagh massacre took place
on which of the following dates?

13th April, 1919

10th April, 1919

24th April, 1921

12th April, 1920

Q.No: 87 Which of these awards is the second
highest Civilian award in India?

Padma Shri

Padma Vibhushan

Padma Bhushan

Bharat Ratna

Q.No: 88 The Table Mountain is found in which country?

Uganda

Tanzania

Kenya

South Africa

Q.No: 89 Who was the first person to sail around the world?

Marco Polo

Copernicus

Robert Peary

Magellen

Q.No: 90 The OPEC was founded in 1960 by
how many founding nations?

Q.No: 91 Which animal appears on the World
Wildlife Fund emblem/logo?

Giant Panda

Tiger

Lion

Elephant

Q.No: 92 The World Health Organization is located in which
country?

USA USA

Switzerland

Belgium

France

Q.No: 93 ______________ is the
name given to a climate
pattern that describes the
unusual warming of surface
waters in the eastern Pacific
Ocean.

Christobel

Chantal

Khanun

Q.No: 94 Which of the following state's
rulers used the title of 'Nizam'?

Mysore State

Hyderabad State

Gwalior State

Arcot State

Q.No: 95 ______ is the natural satellite of the earth.

Nix

Moon

Aryabhata

Hydra

Q.No: 96 The author of the book "Anna Karenina" is:

Leo Tolstoy

Alfred Nobel

Mahatma Gandhi

Jane Austen

Not Answered

Q.No: 97 As of january 2024, who
amongst the following is the
elected Vice-President of the
United States of America?

Mike Pence

Shruti Mahl

Kamla Harris

Joe Biden

Not Answered

Q.No: 98 In which year was the Badminton Association
of India formed?

Q.No: 99 Who was the first Governor General of Bengal?

Lord Wellesley

Warren Hastings

Sir John Shore

Lord Cornwallis

Q.No: 100 Who was the first Indian woman to win
a gold medal in shooting in Asian
Games?

Dutee Chand

Vinesh Phogat

Rahi Sarnobat

Hima Das

Section - V (Computer Knowledge)

Q.No: 101 Which of the following is not an advantage of
internet?

Entertainment

Education

Spamming

Online services

Q.No: 102 The full form of UNIVAC is:

Universal Automatic Computer

Universal Array Computer

Unique Automatic Computer

Unified Authorized Computer

Q.No: 103 Which short key is used to
Switch between open
application windows?

SHIFT+DELETE

ALT+F4

ALT+TAB

ALT+PRINT SCREEN

Q.No: 104 Email stands for:

Easy mail

Exchange Mail

Electronic mail

Electric mail

Q.No: 105 The Shortcut key which Cuts the selected text and
puts it on the clipboard :

Ctrl + Z

Ctrl + P

Ctrl + C

Ctrl + X

Q.No: 106 What kind of website is the Intranet?

Internal

Public

Shared

Secure

Q.No: 107 The length of an IPv6 address is _______ bits.

128

32

64

16

Q.No: 108 How many types of threads are there?

Two types : Low Level Thread and High Level Thread

Two types : User Level Thread and Kernel Level
Thread

Only one types : User Level Thread

Only one types : Kernel Level Thread

Not Answered

Q.No: 109 A ______ is a container in a
computer system for storing
information.

Floppy disk

Folder

Container

Directory

Q.No: 110 From which page on the Intranet can you
reset your printing PIN?

Links

My Site

Homepage

Team Site

Q.No: 111 Which of the following is not type of virus?

Overwrite virus

File system virus

Permanent virus

Macro virus

Q.No: 112 Which port transfers large amount of data
at very fast speed?

Serial port

Game port

VGA port

Fire wire port

Q.No: 113 Which commands are
automatically loaded into main
memory?

Viral

External

Internal

Situational

Q.No: 114 Which of the following is wrong regarding the
email?

First part of email address is host name

Spaces are not allowed within the email address

Second part of email address is domain name

Email consists of two parts separated by @ symbol

Q.No: 115 In MS Word,
the shortcut
key used to
insert the
current time
is
___________.

Q.No: 116 1 byte = ____ bits

6

2

4

8

Q.No: 117 The shortcut key used to print a Word
document is :

SHIFT + P

ALT+ P

ESC + P

CTRL + P

Q.No: 118 Floppy disks typically in diameter :

9 inch

10 inch

8 inch

7 inch

Q.No: 119 Identify the figure best suitable for Hybrid
Topology:



Not Answered

Q.No: 120 Peripheral devices such as
printers and monitors are
considered to be:

data

software

hardware

information

Q.No: 121 The ______ is code embedded in
some legitimate program that is set to
explode when certain conditions are
met.

Logic Bomb

Virus

Trap doors

Time Bomb

Q.No: 122
_______ is the least dangerous and
most lucrative malware.

Spyware

Ransomeware

Adware

Software

Q.No: 123 Which of the following shortcut
key is used 'redo the last
action'?

Ctrl + Y

Ctrl + Z

Ctrl + A

Ctrl + R

Q.No: 124 "Parity bits" are used for :

Identifying users

Encrypting data

Transmit data

Detecting errors

Not Answered

Q.No: 125 E-mail address consists of two
parts separated by @ symbol
the first part is _________.

Hostname

Domain

Website

Username

Section - VI (General Science)

Q.No: 126 What is the process of utilising natural
resources without depleting them?

Overexploitation

Afforestation

Extraction

Sustainable management

Not Answered

Q.No: 127 The main purpose of anodising
in the context of aluminium is to
___________.

make it heavier

make it conductive

form a thick oxide layer

Make it to shine

Not Answered

Q.No: 128 Parthenogenesis is a mode of reproduction in
which

Offspring develop from seeds

Offspring develop from spores

Offspring develop from unfertilized eggs

Offspring develop from fertilized eggs

Not Answered

Q.No: 129 Erythrocytes are also known as

White blood cells

Saliva

Platelets

Red blood cells

Q.No: 130 100 watts is equal to how many kilowatts?

Q.No: 131 The female parts of a flower are:

filament, style

anther, stigma

style, stigma

stamen, style

Q.No: 132 Transportation of oxygen
and carbon dioxide is the
main purpose of the
_________

Kidney

Heart

Liver

Chest

Q.No: 133 Nettle sting is a natural source of which acid?

Lactic acid

Tartaric acid

Citric acid

Methanoic acid

Not Answered

Q.No: 134 Unicellular organisms like yeast reproduce
through

Sexual as well as asexual modes

Cell Fusion

Budding

Vegetative propagation only

Not Answered

Q.No: 135 A phase of transition from liquid to
gas is called ______

Sublimation

Solidification

Boiling

Evaporation

Not Answered

Q.No: 136 An electromagnet consists of a core of
______

Soft iron

Hard Steel

Soft Copper

Hard Aluminum

Q.No: 137 Animals that have a segmented body
belong to the phylum

Porifera

Chordata

Annelida

Mollusca

Q.No: 138 Base of the pistil is:

Sepal

Stigma

Ovary

Style

Q.No: 139 Which one of the following shows the
correct relationship in terms of
reactivity?

Not Answered

Q.No: 140 The main purpose of organ donation is to
____________.

Removing the organs from the donor

For research and development

Selling them to make money

Providing organs to those with non-functioning organs

Q.No: 141 _______ largely
determines the sex of an
individual in human beings.

Ability to change sex

Environmental cues

Genes inherited from parents

Temperature at which fertilized eggs
are kept

Q.No: 142 What is the term for the process of
breakdown of pyruvate in the
absence of oxygen?

Aerobic respiration

Anaerobic respiration

Photosynthesis

Carbonisation

Not Answered

Q.No: 143 Which of the following is a renewable source of
energy?

Oil

Coal

Ocean

Uranium atoms

Q.No: 144 In plants, Auxin is a hormone responsible for:

cell growth and elongation

Regulating water balance

Inhibiting growth

Attracting pollinators

Not Answered

Q.No: 145 Industrial emission is a source of __________
pollution

Air

International

Domestic

Forest

Q.No: 146 Why is windmill maintenance
required so frequently for
the tower and blades?

High exposure to sun and rain

Less interaction with natural element

Low initial cost of establishment

Lack of technology input

Not Answered

Q.No: 147 The full form of CFC is

Chloro farmaldihyde carbon

Chloro fluoro catalyst

Chloro fluoro carbon

Carbon fluoro carbon

Q.No: 148 Base + Acid gives you _________.

Only Water

Salt + Carbon-di-oxide

Salt + Water

Salt + Hydrogen gas

Q.No: 149 Which lens is thinner at the centre?

Plane

Convex

Flat

Concave

Not Answered

Q.No: 150 What are Fungi that depend on
living plants and animals
called?

Symbiosis

Mycorrhizae

Parasites

Saprophytes


